
Prüfungsaufgaben Aufgabe 151b 
 

 
 

Im Dreieck BMS gilt: 

 
                   BM 

tan 50°/2 = ----- | *MS 
                   MS 

 
tan 25° * MS = BM | :tan 25° 

 
            BM            6 cm 

MS = ---------- = --------- = 12,9 cm 
           tan 25°     tan 25° 

 

Strahlensatz: 
 

SN = SM - AB = SM - 1,4 cm =12,9 cm - 1,4 cm = 11,5 cm 
 

PN      SN 
---- = ---- | *BM 

BM     SM 
 

         SN * BM      11,5 * 6 cm² 
PN = ---------- = ---------------- = 5,3 cm 

             SM            12,9 cm 
 



V = VKegel + VZylinder + VHalbkugel 

 

            π * PN² * NS       π * 5,3² * 11,5 cm³ 
VKegel = ---------------- = ------------------------ = 338,1 cm³ 

                     3                           3 
 

VZylinder = π * BM² * MN = π * 6² * 1,4 cm3 = 158,3 cm³ 
 

BC = 2 * BM = 2 * 6cm = 12 cm 
 

                 BC³ * π       12³ * π 
VHalbkugel = ----------- = ---------- cm³ = 452,2 cm³ 

                      12              12 
 

V = 338,3 cm³ + 158,3 cm³ + 452,2 cm³ = 948,6 cm³ 

 


